SH245A8

BRTHICHSRENSVNE T RSN SEAMOMSHEREAEHR

B <4900 —A~)L/B

g4 A RS R | BREB | g 3 a%jﬁ&
BIEE

HITESHE | 5818 MELROT 003 |..%
gt R 0.036 i
B8 A BTN 5H8H AT hith 0.039 3
KERR 0.027 =
AT | 5A7E J— VAL 0.050 i
FIEMR 0.033 i
EENER | 5ATE BT =R 0066 |.. %
J—IL& 0.056 i3
BN . REE=AT 0.034 i
J—ILE 0.063 i3
OB N2 578 J—ILEA 0.060 =
AEEILRT & 0.050 i
EamIEE | sA18 BERITE oo | =
KB /NERI 0.037 i
KRR | 5A8E e EE R H B 0.029 i
FEHE 0.032 i
Ttk 5H7H v IO LR 0.033 i
STENER 0.058 "
BT INE 5H1E FEIthAIEEE IS 0.048 i
EEBEREES 0.078 i
EARINER | 5A8E Ll oos2 | B
J—)LAB 0.034 i
521\ g =N 0.028 =
RRIFR | 9A8R e ooas |
= [ 5H 140 BEI 0.061 "
S AL 0.054 i
B /N 22k 5 A8 BEHRCR) EOfliE 0.036 i
EEX:I0pi 0.027 i
=t 5H78 DY XNERT 0.035 =
SATULVE 0.026 "
25 B\ 5HSH AERER 0.020 i
AEEEHE 0.040 i
gEhk | 5AsA el o019 1. %
STE/NERT 0.049 i




SH245A8

BRTHICHSRENSVNE T RSN SEAMOMSHEREAEHR

B <4900 —A~)L/B

=n | = | = 4B T :t D ‘FI' P E’p s Bﬁ%i&
R A% 8 B 157 ORI YRR pae et
- ™ BIEE
BARMNER | SASH paa o0%2 L.
FEINR 0.031 "
25 [\ 5H70 wBEINRfHE 0.025 4
THEDLE 0.029 13
T, 57 |SLEYHEDEYEDME] 0040 ="
g 0.031 13
N AB/NEI 0.039 2
ERIEE | SAIB !
= * B RE SIS 0.065 =
A/ 5H 10 B8 8 B R BEK O 0.058 i
1EP9RETETKth 0.042 "
" HWBER 0.044 4
RI/MER | 5SANE
* KEBEfmYT & 0.038 i3
e g J—ILE 0.056 4
BINER 58118
* B LS 0.045 P
ERINER | 5B R 22 0038 | ®
KT 3P B i (Hh ) 0.051 =
. N WEE I 0.043 4
BiBINER 58118
i * MERYE ™ 0.036 i
A E /A 58118 aﬁz— 0.039 i
ith 0.043 i3
. i AEIINERD 0.058 2
BN | 5A11A
3 * ABEER 0.060 i
. N HwENEME 0.051 i
I /INER | 5A1H
’ > HBEER 0.071 :
sTEdbNER: | sA1E il 0029 "
FREE 0.056 i3




SH245A8

BRTHICHSRENSVNE T RSN SEAMOMSHEREAEHR

B <4900 —A~)L/B

R | REBB | o i&%ﬁ&

ek 4 AlIE R JBIEHAT A =]
JAIE & 2 R il
IEE | OF 5
Fhhs | sAsE REA oont | A
1 zEB 0.066
- . TR
=t B ety 5H8H : 1EFARRAE X A & 0.059
INAyha—RkDJz R | 0.046
K B 5H7E :it*sc%%%fﬁﬁf& 0.068
7—)LEfAlith {4 E 0.040
B s " FEE 0.037
EESEPRER | 5H8H
* BRE=EE 0.039
n [—1]
Eis | 5A78 L] 0043
2] 0.034
. J—ILE 0.070
KEEFZR | 5H8H
* REREE (F=xa—MED | 0030
thighEt | 5HsH Bk 0045
wY SR 0.039

= [ h e 5H 140 J— )L AIsIEISEAl | 0073

AERERAERMTIE| 0069

- J—)Ldt 0.037

A FF AR 5A8H
ke A BRI 0027
— " Z— )Lt 0.044

=RHER 5A7H -

AT BRIl | 0040
n KRB EEAL A 0.038

ZR R 5A8H
=5 HEE B R 0.032

T=AI—rDEEME 0.057

KIEch 4 5878 - R
VI R—IL—2AIRFE| 0.038

" 1= A{EE 0.048
KEBhZ 5A1H
i HE R R {35 | 0.050
EAEheE | 55118 %iD'D(U#i:iMEIJ 0.043
INRyka—k 0.024
. i BERHEZS 0.034
ZAmhER | 5A118
i i EE 0.051
BREmEAIEE 0.043

I ER 5A1H

e e e e e e E e E e E e E P E E P e E P I B e E I P E I B

BEWIS 0.037




